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З444G4 1. �4FD5H:8  
 98698P D9L<? A4K4FP 89?4FP @4FD9L><. %F9A>< @4FD9L9> G  98698S 

CB?GK<?<EP CB 5 @@. � CBDO69 QAFG;<4;@4  98698P A9 ;4@9F<? >4> ;4CB?A<? 69EP J9I 
@4FD9L>4@<. $4;@9DO 6E9I @4FD9L9> ED4;G CBE?9 <I EB;84A<S  98698P ;4C<EO64? 6 
EC<EB> 7BFB6OI <;89?<=, AB ;45O? D4EEF46<FP <I CB CBDS8>G. #B@B7<F9  98698R 
EB5D4FP E4@O= 5B?PLB= CB >B?<K9EF6G A45BD @4FD9L9> CB CD46<?G, KFB 6 B8AB= 
@4FD9L>9 @B:9F 5OFP ?R54S 8DG74S @4FD9L>4 D4;@9DB@ @9APL9 99 >4> @<A<@G@ A4 
2@@. 

ТD55G5FEO A4C<E4FP CDB7D4@@G 6OK<E?9A<S >B?<K9EF64 @4FD9L9> 6 E4@B@ 
5B?PLB@ CB >B?<K9EF6G @4FD9L9> A45BD9, >BFBDO= @B:AB CB?GK<FP <; <@9RM97BES 6 
A4?<K<<. 

 

Т5I=8G5E:85 FD55>64=8O: 
�@S 6IB8AB7B H4=?4: INPUT.TXT 

�@S 6OIB8AB7B H4=?4: OUTPUT.TXT 

"7D4A<K9A<9 CB 6D9@9A< F9EF<DB64A<S: 2 E9>GA8O A4 B8<A F9EF. 
 

�I>4=O5 44==O5 

� C9D6B= EFDB>9 6IB8AB7B H4=?4 INPUT.TXT ;4C<E4AB A4FGD4?PAB9 K<E?B N 

(1 < N ≤ 2023). � E?98GRM<I N EFDB>4I A4IB8SFES D4;@9DO A4?<KAOI 6 J9IG @4FD9L9>. 
$4;@9D @4FD9L>< 4 K<E?B M 3 G>4;4A 6 @<??<@9FD4I, 50 ≤ M ≤ 10000. 

 

�OI>4=O5 44==O5 

� 6OIB8AB@ H4=?9 OUTPUT.TXT EB89D:<FES 98<AEF69AAB9 J9?B9 K<E?B 3 
>B?<K9EF6B @4FD9L9> 6 E4@B@ 5B?PLB@ A45BD9. 

 

�D8<5DO H49;>6 6I>4=OI 8 6OI>4=OI 44==OI: 
INPUT.TXT OUTPUT.TXT 

5 
52 
56 
60 
53 
64 

4 

5 
63 
65 
62 
51 
50 

3 

  



2 

 

СиEFе<а >Fе=ки. 
�?S BJ9A>< CD46<?PABEF< D9L9A<S CD98BEF46?9AB 10 C4D H4=?B6 INPUT-

ANSWER c QF4?BAAO@< 6IB8AO@< < 6OIB8AO@< 84AAO@< 

�4:8O= GEC9LAB CDB=89AAO= F9EF 4 10 54??B6. 
 5H5=85: 
#9D6O@ L47B@ D9L9A<S ;484K< S6?S9FES GCBDS8BK<64A<9 CBE?98B64F9?PABEF< 

K<E9?, 84?99 BF5<D4RFES FB?P>B F9 >BAF9=A9DO KFB G8B6?9F6BDSRF GE?B6<R 
6>?RK9A<S 6 CBE?98B64F9?PABEFP. "K96<8AO@ B5D4;B@, A4K<A4FP HBD@<DB64FP 
CBE?98B64F9?PABEFP >BAF9=A9DB6 ?GKL9 6E97B E A4<5B?PL97B >BAF9=A9D4, F4> >4> 9E?< 
EGM9EF6G9F CBE?98B64F9?PABEFP >BAF9=A9DB6 59; 84AAB7B >BAF9=A9D4, FB ?<5B QFG 
CBE?98B64F9?PABEFP @B:AB 6?B:<FP 6 D4EE@4FD<649@O= >BAF9=A9D, ?<5B 
D4EE@4FD<649@O= >BAF9=A9D @B:9F ;4@9A<FP E4@O= 5B?PLB= >BAF9=A9D 6 
EGM9EF6GRM9= CBE?98B64F9?PABEF<. 

 

 

 

f = open('INPUT.TXT') 

n = int(f.readline()) 

a = [int(s) for s in f] 

a.sort(reverse = True) 

 
count = 1 

s = a[0] 

for i in range(1, len(a)): 

 if s - a[i] >= 2: 

  count += 1 

  s = a[i] 

print(count)  
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З444G4 2. �D>5:F=4O 45OF5;P=>EFP  
 98698P D9L<? CD<6?9KP > E6B9= CDB9>FAB= 89SF9?PABEF< AB6OI GK4EFA<>B6, 

B8A4>B B>4;4?BEP, KFB 6 ?9EAB= L>B?9 G:9 4>F<6AB 6989FES 89SF9?PABEFP CB @AB7<@ 
CDB9>F4@ < ;69DSF4 A9 EC9L4F CD<EB98<ASFES > >B@4A89 AB6B7B CDB9>F4. � <FB79 
 98698P BCD989?<? KFB i-= ;69D9AB> 6EFGC<F 6 CDB9>F, 9E?< 6 A9@ G:9 9EFP A9 @9A99 Ai, 

AB < A9 5B?99 Bi GK4EFA<>B6. � FB :9 6D9@S  98698S GECB>B<?B, KFB 6EFGC<6 6 >B@4A8G 
CDB9>F4 ;69DSF4 G:9 A9 6O=8GF  <; A97B 8B >BAJ4 CDB9>F4. #B@B7<F9  98698R 
EBEF46<FP CD46<?PAGR EFD4F97<R CD<7?4L9A<S AB6OI GK4EFA<>B6 CDB9>F4.  98698S 
>4> DG>B6B8<F9?S CDB9>F4 =5 EG8F45< B8A<@ <; GK4EFA<>B6.  98698P >4F97BD<K9A, < 
7BFB6 ;4>DOFP CDB9>F, 9E?< G A97B A9 CB?GK<FES 6B6?9KP 6E9I L>B?PA<>B6. 

ТD55G5FEO A4C<E4FP CDB7D4@@G BCD989?9A<S CBE?98B64F9?PABEF< CD<7?4L9A<S 
AB6OI GK4EFA<>B6 6 CDB9>F, 789 <@9A4 L>B?PA<>B6 5G8GF ;4>B8<DB64AO <I AB@9D4@<. 

 

Т5I=8G5E:85 FD55>64=8O: 
�@S 6IB8AB7B H4=?4: INPUT.TXT 

�@S 6OIB8AB7B H4=?4: OUTPUT.TXT 

"7D4A<K9A<9 CB 6D9@9A< F9EF<DB64A<S: 2 E9>GA8O A4 B8<A F9EF. 
 

�I>4=O5 44==O5 

� C9D6B= EFDB>9 6IB8AB7B H4=?4 INPUT.TXT ;4C<E4AB A4FGD4?PAB9 K<E?B N 

(1 ≤ N ≤ 2023). � E?98GRM<I N EFDB>4I A4IB8SFES C4DO K<E9? Ai < Bi K9D9; CDB59?, 789 
0 ≤ A, B ≤ 1000 

 

�OI>4=O5 44==O5 

� 6OIB8AB@ H4=?9 OUTPUT.TXT EB89D:<FES B8AG EFDB>G 4 

CBE?98B64F9?PABEFP AB@9DB6 GK4EFA<>B6 D4;89?9AAOI CDB59?B@, 6 >BFBDB= EFB<F 
CD<7?4L4FP AB6OI GK4EFA<>B6. �E?< CD<7?4E<FP 6E9I <; CD98EF46?9AAB7B C9D9KAS 
A96B;@B:AB, FB 6 EFDB>9 8B?:AB 5OFP FB?P>B B8AB K<E?B 0. 

 

ПDи<еGа=ие 

�E?< 6B;@B:AB EBEF46<FP A9E>B?P>B D4;AOI CBE?98B64F9?PABEF9= 6>?RK9A<S 
AB6OI GK4EFA<>B6 CDB9>F4, 6 >4K9EF69 BF69F4 CD<698<F9 ?R5B= <; A<I. 
 

�D8<5DO H49;>6 6I>4=OI 8 6OI>4=OI 44==OI: 
INPUT.TXT OUTPUT.TXT 

5 

2 3 

0 2 

0 4 

1 2 

3 4 

2 4 1 3 5 

7 

2 3 

1 3 

3 4 1 2 5 6 7 



4 

0 4 

1 2 

3 4 

5 6 

6 6 

7 

2 3 

1 3 

0 4 

1 2 

3 4 

4 4 

5 6 

0 

  

 

СиEFе<а >Fе=ки. 
�?S BJ9A>< CD46<?PABEF< D9L9A<S CD98BEF46?9AB 15 C4D H4=?B6 INPUT-

ANSWER c QF4?BAAO@< 6IB8AO@< < 6OIB8AO@< 84AAO@< 

�4:8O= GEC9LAB CDB=89AAO= F9EF E AB@9D4@< 1-10 4 5 54??B6. 
�4:8O= GEC9LAB CDB=89AAO= F9EF E AB@9D4@< 11-15 4 10 54??B6. 
"5D4F<F9 6A<@4A<9, KFB CBE<@6B?PAB9 ED46A9A<9 D9;G?PF4F4 D45BFO 

F9EF<DG9@B7B CD<?B:9A<S < QF4?BAAB7B BF69F4 A9G@9EFAB. 
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 5H5=85: 
const nmax=100; 
 
var a:array[1..nmax,1..2] of integer; 
    b,c:array[0..nmax] of integer; 
    n:integer; 
 
procedure init; 
  var i,j:integer; 
  begin 
  assign(input,'input.txt'); 
  reset(input); 
  assign(output,'output.txt'); 
  rewrite(output); 
  read(n); 
  for i:=1 to n do 
    for j:=1 to 2 do 
      read(a[i,j]); 
  for i:=1 to nmax do 
    c[i]:=0; 
  end; 
 
procedure work; 
  var i,j,k:integer; 
  begin 
  for i:=0 to n-1 do begin 
    k:=0; 
    for j:=1 to n do 
      if (c[j]=0) and (a[j,1]<=i) and (a[j,2]>=i) then begin 
        if k=0 then k:=j 
        else if a[j,2]<a[k,2] then k:=j; 
        end; 
    if k=0 then begin 
      writeln(0); 
      exit; 
      end; 
    c[k]:=1; 
    b[i]:=k; 
    end; 
 
  for i:=0 to n-2 do 
    write(b[i],' '); 
  write(b[n-1]); 
  end;  
procedure done; 
  begin 
  close(input); 

  close(output); 

  end; 

 
 
begin 

init; 

work; 

done; 

end.  



З444G4 3. �458D45< 5>=GEO  
 98698P D9L<? A9@AB7B BF8BIAGFP < CB<7D4FP 6 CBCG?SDAGR <7DG �DB8<?>4. � 

<7D9 C9DEBA4: A4IB8<FES 6 ?45<D<AF9 <; N >B@A4F, >4:84S >B@A4F4 EB98<A9A4 E 
8DG7<@< K >B@A4F4@< >BD<8BD4@<, 6 >BFBDOI D4ECB?B:9AO 5BAGEO, 8?S >4:8B7B 
>BD<8BD4 >B?<K9EF6B 5BAGEB6 Li D4;AB9. �BD<8BDO CB;6B?SRF 86<74FPES FB?P>B 6 B8AG 
EFBDBAG. �IB8 6 ?45<D<AF A4IB8<FES 6 >B@A4F9 CB8 AB@9DB@ 1, 4 6OIB8 6 >B@A4F9 E 
AB@9DB@ N. #BEFDB=F9 F4>B= @4DLDGF  98698P, KFB5O BA A45D4? >4> @4>E<@4?PAB 
6B;@B:AB9 >B?<K9EF6B 5BAGEB6. 

"5D4F<@ 6A<@4A<9, KFB >BD<8BDO @B7GF 5OFP ;4>B?PJB64AO A4 E4@B= >B@A4F9, 
F.9. 69EF< 6 FG :9 >B@A4FG <; >BFBDB= A4K4?<EP, 4 F4> :9 <; B8AB= >B@A4FO 6 8DG7GR 
>B@A4FG @B:9F 5OFP B8AB6D9@9AAB A9E>B?P>B CDS@OI >BD<8BDB6 E D4;AO@ 
>B?<K9EF6B@ 5BAGEB6 6 A<I. &4>:9 64:AB KFB 5BAGEO @B:AB A9 FB?P>B A4>4C?<64FP, 
AB < F9DSFP, 9E?< EG@@4 A4>BC?9A<S S6?S9FES BFD<J4F9?PAO@ K<E?B@. 

ТD55G5FEO A4C<E4FP CDB7D4@@G 6OK<E?9A<S E @4>E<@4?PAB 6B;@B:AO@ 
>B?<K9EF6B@ 5BAGEB6, 6>?RK4S 64D<4AF E 59E>BA9KAO@ A4>BC?9A<9@ 5BAGEB6 

 

Т5I=8G5E:85 FD55>64=8O: 
�@S 6IB8AB7B H4=?4: INPUT.TXT 

�@S 6OIB8AB7B H4=?4: OUTPUT.TXT 

"7D4A<K9A<9 CB 6D9@9A< F9EF<DB64A<S: 2 E9>GA8O A4 B8<A F9EF. 
 

�I>4=O5 44==O5 

� C9D6B= EFDB>9 6IB8AB7B H4=?4 INPUT.TXT ;4C<E4AO K9D9; CDB59? A4FGD4?PAO9 
K<E?4 N < K 3 >B?<K9EF6B >B@A4F < >BD<8BDB6  (1 ≤ N ≤ 2023), (1 ≤ K ≤ 20230). � 
E?98GRM<I K EFDB>4I A4IB8SFES FDB=>< K<E9? D4;89?9AAO9 CDB59?B@: C9D64S C4D4 
K<E9? -  AB@9D4 >B@A4F, <; >BFBDB= < 6 >BFBDGR 6989F >BD<8BD, CBE?98A99 K<E?B 6 
EFDB>< 4 QFB Li >B?<K9EF6B 5BAGEB6, >BFBDB9 @B:AB EB5D4FP 6 >BD<8BD9, 789  
-10000 ≤ Li ≤ 10000.  

 

�OI>4=O5 44==O5 

� 6OIB8AB@ H4=?9 OUTPUT.TXT EB89D:<FES B8AG EFDB>G: 
SUPER 3 9E?< @B:AB A45D4FP A9B7D4A<K9AAB9 >B?<K9EF6B 5BAGEB6; 
UNREAL 3 9E?< <7DG CDB=F< A96B;@B:AB; 
6 BEF4?PAOI E?GK4SI ;4C<E4AB K<E?B @4>E<@4?PAB 6B;@B:AB A45D4AAOI 5BAGEB6. 

 

ПDи<еGа=ие 

�BD<8BDO @B7GF 5OFP ;4>B?PJB64AO A4 E4@B= >B@A4F9, F.9. 69EF< 6 FG :9 
>B@A4FG <; >BFBDB= A4K4?<EP, 4 F4> :9 <; B8AB= >B@A4FO 6 8DG7GR >B@A4FG @B:9F 
5OFP B8AB6D9@9AAB A9E>B?P>B CDS@OI >BD<8BDB6 E D4;AO@ >B?<K9EF6B@ 5BAGEB6 6 
A<I.  

�BAGEO @B:AB A9 FB?P>B A4>4C?<64FP, AB < F9DSFP, 9E?< EG@@4 A4>BC?9A<S 
S6?S9FES BFD<J4F9?PAO@ K<E?B@. 
  



 

�D8<5DO H49;>6 6I>4=OI 8 6OI>4=OI 44==OI: 
INPUT.TXT OUTPUT.TXT 

2 2 
1 2 3 
1 2 7 

7 

5 5 
1 2 -3 
2 3 2 
3 4 2 
4 2 2 
2 5 -5 

SUPER 

5 5 
1 2 -3 
2 3 2 
3 4 2 
4 2 2 
2 1 -5 

UNREAL 

  



СиEFе<а >Fе=ки. 

�?S BJ9A>< CD46<?PABEF< D9L9A<S CD98BEF46?9AB 20 C4D H4=?B6 INPUT-

ANSWER c QF4?BAAO@< 6IB8AO@< < 6OIB8AO@< 84AAO@< 

�4:8O= GEC9LAB CDB=89AAO= F9EF 4 5 54??B6. 

 

 5H5=85: 
#include<bits/stdc++.h> 
#define int long long 
#define inf 1e10l 
using namespace std; 
  
  
struct edge { int u, v, c; }; 
vector<pair<int, int>> gp[2023]; 
vector<edge> g; 
vector<int> d(2023, -inf), p(2023, -1), used(2023, 0), ban(2023, 

0); 
  
void bfs(int i, int c) { 
    used[i] = c; 
    for (auto& e : gp[i]) { 
        if (!used[e.first]) bfs(e.first, c); 
    } 
} 
  
int32_t main() { 
    ifstream cin("input.txt"); 
    int n, m; cin >> n >> m; 
  
    for (int i = 0; i < m; i++) { 
        edge ins; cin >> ins.u >> ins.v >> ins.c; 
        ins.u--; ins.v--; 
        gp[ins.v].push_back(make_pair(ins.u, ins.c)); 
        g.push_back(ins); 
    } 
    d[0] = 0; 
    for (int k = 0; k < n; k++) { 
        for (auto& e : g) { 
            if (d[e.u] > -inf && d[e.v] < d[e.u] + e.c) { 
                d[e.v] = d[e.u] + e.c; 
                p[e.v] = e.u; 
            } 
        } 
    } 
      
    if (d[n - 1] == -inf) { 

        cout << "UNREAL"; 
        return 0; 
    } 
    bfs(n - 1, 1);                   
  



    int u = 2023; 
    while (u != -1) { 
        u = -1; 
        for (auto& e : g) { 
            if (!ban[e.u] && !ban[e.v]) { 
                if (d[e.u] > -inf && d[e.v] < d[e.u] + e.c) { 
                    d[e.v] = d[e.u] + e.c; 
                    p[e.v] = e.u; 
                    u = e.u; 
                } 
            } 
        } 
        if (u == -1) continue; 
        vector<int> cyc;  
        int y = u; 
        for (int i = 0; i < n; i++) { 
            y = p[y]; 
        } 
        for (int cur = y; ; cur = p[cur]) { 
            cyc.push_back(cur); 
            if (cur == y && cyc.size() > 1)  break; 
        } 
        for (auto b : cyc) ban[b] = 1; 
    } 
  
    for (int i = 0; i < n; i++) { 
        if (used[i] && ban[i]) { 
            cout << "SUPER"; return 0; 
        } 
    } 
    cout << d[n - 1]; 

    return 0; 

} 



 

З444G4 4. �D>EF>9 4DI864F>D  
 98698P D9L<? EB;84FP EB5EF69AAO= 4DI<64FBD 8?S F9>EFB6 FB?P>B A4 DGEE>B@ 

S;O>9.  98698P ;484? A9E>B?P>B CBE?98B64F9?PABEFP E<@6B?B6, >BFBDO9 5G89F 
;4@9ASFP 5G>64@< 4A7?<=E>B7B 4?H46<F4.  98698P ;4@9F<?, KFB A9>BFBDO9 F9>EFO 
<@9RF A9E>B?P>B 64D<4AFB6 ;4@9AO 6O5D4AAOI CBE?98B64F9?PABEF9= A4 5G>6O 
4A7?<=E>B7B 4?H46<F4. #B@B7<F9  98698R CB8B5D4FP 4?7BD<F@ E:4F<S F4><@ B5D4;B@ 
KFB5O 6 <FB79 CB?GK4?ES >4> @B:AB 5B?99 >BDBF><= F9>EF. 

ТD55G5FEO A4C<E4FP CDB7D4@@G BCD989?9A<S A4<?GKL9= >B@5<A4J<< ;4@9AO 
CBE?98B64F9?PABEF9= E<@6B?B6 A4 5G>64 4A7?<=E>B7B 4?H46<F4 CB EF9C9A< E:4F<S 
>BA9KAB7B F9>EF4. 

 

Т5I=8G5E:85 FD55>64=8O: 
�@S 6IB8AB7B H4=?4: INPUT.TXT 

�@S 6OIB8AB7B H4=?4: OUTPUT.TXT 

"7D4A<K9A<9 CB 6D9@9A< F9EF<DB64A<S: 2 E9>GA8O A4 B8<A F9EF. 
 

�I>4=O5 44==O5 

� C9D6B= EFDB>9 6IB8AB7B H4=?4 INPUT.TXT ;4C<E4AO K9D9; CDB59? A4FGD4?PAO9 
K<E?4 N < K 3 >B?<K9EF6B CBE?98B64F9?PABEF9= E<@6B?B6 A4 ;4@9AG < >B?<K9EF6B 
EFDB> 6 E:<@49@B@ F9>EF9, 789 (1 ≤ N ≤ 52), (1 ≤ K ≤ 2023). � E?98GRM<I 2N EFDB>4I 
;4C<E4AO A4 C9D6B= EFDB>9 CBE?98B64F9?PABEFP E<@6B?B6 A4 ;4@9AG 
(CBE?98B64F9?PABEFP A9 6>?RK49F 6 E95S E<@6B? >BAJ4 EFDB><) 6FBD4S EFDB>4 - < 
E<@6B? A4 ;4@9AG. � E?98GRM<I N EFDB>4I ;4C<E4A F9>EF 8?S E:4F<S. 

 

�OI>4=O5 44==O5 

� 6OIB8AB@ H4=?9 OUTPUT.TXT EB89D:<FES B8AG EFDB>G 4 

CBE?98B64F9?PABEFP AB@9DB6 GK4EFA<>B6 D4;89?9AAOI CDB59?B@, 6 >BFBDB= EFB<F 
CD<7?4L4FP AB6OI GK4EFA<>B6. �E?< CD<7?4E<FP 6E9I <; CD98EF46?9AAB7B C9D9KAS 
A96B;@B:AB, FB 6 EFDB>9 8B?:AB 5OFP FB?P>B B8AB K<E?B 0. 

 

ПDи<еGа=ие 

 98698P <ECB?P;G9F D97<EFDB;46<E@B9 D9L9A<9, CBQFB@G 5B?PL4S (CDBC<EA4S) < 
@4?4S (EFDBKA4S) 5G>6O A9 D46ABE<?PAO 8DG7 8DG7G >4> 6 ;4@9AS9@B= 
CBE?98B64F9?PABEF<, F4> < 6 CB8EF46?S9@OI E<@6B?4I. 

� E:<@49@B@ F9>EF9 A9F 5G>6 4A7?<=E>B7B 4?H46<F4. 
� ;4@9AS9@OI CBE?98B64F9?PABEFSI A9F 5G>6 4A7?<=E>B7B 4?H46<F4. 
�?<A4 EFDB>< A9 @B:9F CD96OL4FP 255 E<@6B?B6 
� CD<@9D9 F9@AO@ HBAB@ BF@9K9A CBE?98A<= E<@6B? EFDB>< 6 E:<@49@B@ < 6 

E:4FB@ F9>EF4I. 
  



 

�D8<5DO H49;>6 6I>4=OI 8 6OI>4=OI 44==OI: 
INPUT.TXT OUTPUT.TXT 

6 3 

8 

F 

В 

L 

8=D>@<0B 

F 

0A?5:B5 

h 

2:;RG05B 

f 

A51S 

g 

�.%. Ч5@=02A:89 40ёB 
A;54CRщ55 >?@545;5=85 
8=D>@<0B8:8: <И=D>@<0B8:0 
- =0C:0 > ?@>F5AA0E 
?5@540G8, 2>7=8:=>25=8S, 
@5F5?F88, E@0=5=8S 8 
>1@01>B:8 8=D>@<0F88>. О= 
?@54;0305B 2O45;SBP 2 
8=D>@<0B8:5 B@8 
=0?@02;5=8S: B5E=8G5A:>5, 
?@8:;04=>5 8 
DC=40<5=B0;P=>5. 

 В B5E=8G5A:>< 0A?5:B5 
8=D>@<0B8:0 2:;RG05B 2 
A51S ?5@540GC, :>48@>20=85 
8 ?@8ё< 8=D>@<0F88. В 
?@8:;04=>< 0A?5:B5 
8=D>@<0B8:0 70=8<05BAS 
@07@01>B:>9 :><?PRB5@>2, 
A>740=85< ?@>3@0<< 
(computer science). 
(C=40<5=B0;P=O9 0A?5:B 
8=D>@<0B8:8 2:;RG05B 2 
A51S 87CG 

5=85 ?@>F5AA>2 
2>7=8:=>25=8S, Q2>;RF88, 
872;5G5=8S 8 @50;870F88 
F5==>9 8=D>@<0F88. 

�.%. Ч5@=02A:89 40ёB 
A;54CRщ55 >?@545;5=85 
F8:8: <И=D>@<0B8:0 - =0C:0 
> ?@>F5AA0E ?5@540G8, 
2>7=8:=>25=8S, @5F5?F88, 
E@0=5=8S 8 >1@01>B:8 
8=D>@<0F88>. О= ?@54;0305B 
2O45;SBP 2 F8:5 B@8 
=0?@02;5=8S: B5E=8G5A:>5, 
?@8:;04=>5 8 
DC=40<5=B0;P=>5. 

 В B5E=8G5A:>< h F8:0 f 2 
g ?5@540GC, :>48@>20=85 8 
?@8ё< 8=D>@<0F88. В 
?@8:;04=>< h F8:0 
70=8<05BAS @07@01>B:>9 
:><?PRB5@>2, A>740=85< 
?@>3@0<< (computer 
science). (C=40<5=B0;P=O9 
0A?5:B F8:8 f 2 g 87CG 

5=85 ?@>F5AA>2 
2>7=8:=>25=8S, Q2>;RF88, 
872;5G5=8S 8 @50;870F88 
F5==>9 8=D>@<0F88. 

  



СиEFе<а >Fе=ки. 

�?S BJ9A>< CD46<?PABEF< D9L9A<S CD98BEF46?9AB 5 C4D H4=?B6 INPUT-

ANSWER c QF4?BAAO@< 6IB8AO@< < 6OIB8AO@< 84AAO@< 

�4:8O= GEC9LAB CDB=89AAO= F9EF 4 20 54??B6. 

 

 5H5=85: 
const rmax=52; 
 
var n,r:integer; 
    p:array[1..rmax] of record 
      c:char; 
      s:string; 
      end; 
    a:array[0..255] of byte; 
    b:array[0..255] of byte; 
    tnum:integer; 
    s:string; 
 
procedure init; 
  var i:integer; 
      c:char; 
  begin 
  assign(input,'input.txt'); 
  reset(input); 
  assign(output,'output.txt'); 
  rewrite(output); 
  readln(r,n); 
  for i:=1 to r do begin 
    readln(p[i].s); 
    readln(p[i].c); 
    end; 
  end; 
 
procedure work; 
  var i,j:byte; 
      q:string; 
      w:byte; 
  begin 
  //fillchar(a,sizeof(a),0); 
  for i:=1 to 255 do 
    a[i]:=0; 
  a[0]:=1; 
  b[0]:=0; 
  for i:=1 to length(s) do begin 
    a[i]:=a[i-1]+1; 
    b[i]:=0; 
    for j:=1 to r do begin 
      w:=length(p[j].s); 
      if w<=i then 
        if a[i-w]+1<a[i] then 
          if copy(s,i-w+1,w)=p[j].s then begin 



             a[i]:=a[i-w]+1; 
             b[i]:=j; 
             end; 
      end; 
    end; 
  q:=''; 
  i:=length(s); 
  while i<>0 do 
    if b[i]=0 then begin 
       q:=s[i]+q; 
       dec(i); 
       end 
    else begin 
       q:=p[b[i]].c+q; 
       i:=i-length(p[b[i]].s); 
       end; 
  writeln(q); 
  end; 
 
 
begin 
init; 
for tnum:=1 to n do begin 
  readln(s); 
  work; 
  end; 
close(input); 
close(output); 
end.  



З444G4 5. �>O F5DD8F>D8O! 
 98698P D9L<? B7BDB8<FP E6B= GK4EFB> ?9E4 FB?EFB= CDB6B?B>B=, KFB5O 6ES><9 

�B?>< 59; A48B5ABEF< A9 DOE>4?< 789 CBC4?B. �?S QFB7B BA 6O5D4? K A489:AOI 
89D96P96 B8AB7B 8<4@9FD4, B5D4;GRM<I 6OCG>?O= @AB7BG7B?PA<>.  98698P 5O? BK9AP 
D4K<F9?PAO@ IB;S<AB@ < 6 8GL9 @4F9@4F<>B@, CBQFB@G BA D9L<? D4EEK<F4FP 8?<AG 
CDB6B?B><, >BFBD4S 9@G CBA48B5<FES. �?S QFB7B BA A4K9DF<? >BBD8<A4FAGR C?BE>BEFP, 
A4A9E A4 A99 >BBD8<A4FO J9AFDB6 B>DG:ABEF9=, S6?SRM<IES CDB9>J<S@< >4:8B7B 
6O5D4AAB7B 89D96J4 A4 C?BE>BEFP ;9@?<. &4> >4> 8<4@9FDO 89D96P96 5O?< 45EB?RFAB 
D46AO@<,  98698P CBEFDB<? K B>DG:ABEF9= B8<A4>B6B7B D48<GE4 <; >4:8B7B J9AFD4 < 
EB98<A<? <I BFD9;>4@< F4>, KFB5O CB?GK<?ES ;4@>AGFO= >BAFGD. !G 6BF CD<@9DAB, >4> 
A4 D<EGA>9:  

 

� CBFB@  98698P F4> C9D9FDG8<?ES, KFB CB;45O? 6E9 HBD@G?O. 
ТD55G5FEO A4C<E4FP CDB7D4@@G, >BFBD4S CB@B:9F  98698R CD46<?PAB 

6OK<E?<FP 8?<AG FB?EFB= CDB6B?B><, >BFBDB= AG:AB 5G89F B7BDB8<FP 97B F9DD<FBD<R.  
 

Т5I=8G5E:85 FD55>64=8O: 
�@S 6IB8AB7B H4=?4: INPUT.TXT 

�@S 6OIB8AB7B H4=?4: OUTPUT.TXT 

"7D4A<K9A<9 CB 6D9@9A< F9EF<DB64A<S: 2 E9>GA8O A4 B8<A F9EF. 
 

Ф>D<4F 6I>4=OI 44==OI: 
�IB8AB= H4=? INPUT.TXT EBEFB<F <; A9E>B?P><I EFDB>.  
� C9D6B= EFDB>9 EB89D:<FES A4FGD4?PAB9 K<E?B K (1 < K < 200). 

�B 6FBDB= EFDB>9 EB89D:<FES 98<AEF69AAB9 A4FGD4?PAB9 K<E?B R 3 D48<GE EF6B?4 
89D964. 

� E?98GRM<I K EFDB>4I EB89D:<FES K C4D 69M9EF69AAOI K<E9?, ;484RM<I 
>BBD8<A4FO J9AFDB6 CDB9>J<= 89D96P96 A4 C?BE>BEFP, CBEFDB9AAGR  986989@. �4:84S 
>BBD8<A4F4 A9 CD96BEIB8<F CB @B8G?R K<E?4 1000. #4DO >BBD8<A4F C9D9K<E?SRFES 6 
CBDS8>9 B5IB84 CB F9DD<FBD<<  98698S CB K4EB6B= EFD9?>9 <?< CDBF<6 A99. !<>4><9 
864 89D964 A9 >4E4RFES 8DG7 8DG74. 

Ф>D<4F 6OI>4=OI 44==OI: 



�OIB8AB= H4=? OUTPUT.TXT EB89D:<F 98<AEF69AAB9 69M9EF69AAB9 K<E?B, 
B>DG7?9AAB9 8B 86GI ;A4>B6 CBE?9 ;4CSFB=, D46AB9 8?<A9 CDB6B?B><, A9B5IB8<@B= 8?S 
B7BD4:<64A<S F9DD<FBD<<  98698S. 

 

�D8<5D H49;>6 6I>4=OI 8 6OI>4=OI 44==OI: 
INPUT.TXT OUTPUT.TXT 

4 
1 
0.0 0.0 
2.0 0.0 
2.0 2.0 
0.0 2.0 

14.28 

 
  



СиEFе<а >Fе=ки. 

�?S BJ9A>< CD46<?PABEF< D9L9A<S CD98BEF46?9AB 5 C4D H4=?B6 INPUT-

ANSWER c QF4?BAAO@< 6IB8AO@< < 6OIB8AO@< 84AAO@< 

�4:8O= GEC9LAB CDB=89AAO= F9EF 4 20 54??B6. 

 5H5=85: 
"C<L9@ HGA>J<R 6OK<E?9A<S 8?<AO BFD9;>4 CB >BBD8<A4F4@ 97B >BAJB6. 

%K<FO649@ C9D6GR C4DG >BBD8<A4F < ;4CB@<A49@ 99 8?S FB7B, KFB5O 69DAGFPES > A9@ 6 
E4@B@ >BAJ9 6 E<?G ;4@>AGFBEF< >BAFGD4. � <E>B@GR 8?<AG 6A4K4?9 ;4C<EO649@ 8?<AG 
B>DG:ABEF< CDB9>J<< EF6B?4 89D964 A4 C?BE>BEFP. �4F9@ 6 J<>?9 EK<FO649@ >4:8GR 
<; BEF46L<IES C4D >BBD8<A4F, EK<F49@ 8?<AG BFD9;>4 < C9D9BCD989?S9@ A4K4?B 
E?98GRM97B BFD9;>4. #BE?9 6OIB84 <; J<>?4 8BC<EO649@ 6 D9;G?PF4F 8?<AG 
CBE?98A97B BFD9;>4 ;4@>AGFB7B >BAFGD4. 

Program task01; 
  var k,r,i,j: integer;  
      x0,y0,x,y,a,b:real;  
      len:real; ft:text; 
   
  function dlina(x1,y1,x2,y2:real):real; 
  begin 
    dlina:= sqrt((x1-x2)*(x1-x2)+ (y1-y2)*(y1-y2)); 
  end; 
 
Begin 
  assign(ft,'derevo.txt'); 
  reset(ft); 
  readln(ft,k); 
  readln(ft,r); 
  readln(ft,x0,y0); 
  a:=x0; b:=y0; 
  len:=8*arctan(1)*r; 
  for i:=1 to k-1 do 
  begin 
    readln(ft,x,y); 
    len:=len+dlina(x0,y0,x,y); 
    x0:=x; y0:=y; 
  end; 
  len:=len+dlina(x0,y0,a,b); 
  writeln(len:10:2); 
  close(ft); 
End.    



З444G4 6. �45 6874? 

 98698P D9L<? GE<?<FP A9CD<>BEAB69AABEFP E6B9= F9DD<FBD<<, 6698S 8?S 
6ES><I �B?>B6 6<;B6O= D9:<@. �4> 6O CB@A<F9,  98698P 6 8GL9 5O? @4F9@4F<>, 
CBQFB@G 8?S CB?GK9A<S 6<;O 6ES><9 �B?>< 8B?:AO 5O?< BF7484FP >B8B6B9 E?B6B CB 
E?98GRM9@G 4?7BD<F@G:  98698P ;4C<EO64? K 8?<AAOI J9?OI K<E9?. �B?> 8B?:9A 
5O? E?B:<FP 6E9 J<HDO >4:8B7B K<E?4 < CB?GK<FP AB6O9 K<E?4. �4?99 AG:AB 5O?B 
E?B:<FP 6E9 J<HDO 6 >4:8B@ CB?GK9AAB@ K<E?9 < CB6FBDSFP F4><9 89=EF6<S 8B F9I 
CBD, CB>4 BF >4:8B7B K<E?4 A9 BEF4A9FES K<E?B, @9APL99 89ESF<. �?S >4:8B7B <; 
CB?GK9AAOI K<E9? AG:AB A4=F< EBBF69FEF6GRMGR 5G>6G 6 4?H46<F9 «�E9 8?S 6ES><I 
�B?>B6». ЭF< 5G>6O < B5D4;GRF >B8B6B9 E?B6B. 

ТD55G5FEO A4C<E4FP CDB7D4@@G, >BFBD4S CB@B:9F 6ES><@ �B?>4@ BF7484FP 
>B8B6B9 E?B6B < CB?GK<FP 6<;G 8?S CBE9M9A<S F9DD<FBD<<  98698S.  

 

Т5I=8G5E:85 FD55>64=8O: 
�@S 6IB8AB7B H4=?4: INPUT.TXT 

�@S 6OIB8AB7B H4=?4: OUTPUT.TXT 

"7D4A<K9A<9 CB 6D9@9A< F9EF<DB64A<S: 2 E9>GA8O A4 B8<A F9EF. 
 

Ф>D<4F 6I>4=OI 44==OI: 
�IB8AB= H4=? INPUT.TXT EBEFB<F <; A9E>B?P><I EFDB>.  
� C9D6B= EFDB>9 EB89D:4FES 89ESFP 5G>6 4?H46<F4 «�E9 8?S 6ES><I �B?>B6». 
�B 6FBDB= EFDB>9 EB89D:<FES 98<AEF69AAB9 A4FGD4?PAB9 K<E?B K 3 >B?<K9EF6B 

5G>6 6 >B8B6B@ E?B69. 
� E?98GRM<I K EFDB>4I EB89D:4FES K 8?<AAOI J9?OI K<E9?, ;4C<E4AAOI 

 986989@. �?<A4 >4:8B7B K<E?4 A9 5B?PL9 256. 
1 < K < 200 

Ф>D<4F 6OI>4=OI 44==OI: 
�OIB8AB= H4=? OUTPUT.TXT EB89D:<F >B8B6B9 E?B6B, A9B5IB8<@B9 8?S 

CB?GK9A<S 6ES><@ �B?>4@ 6<;O 8?S CBE9M9A<S F9DD<FBD<<  98698S. 
 

�D8<5D H49;>6 6I>4=OI 8 6OI>4=OI 44==OI: 
INPUT.TXT OUTPUT.TXT 

В�ЛИ/&(Щ�' 
5 
12057915491 
100579153 
200668244 
100000000009 
8111111111111 

�/&�Л 

  



СиEFе<а >Fе=ки. 

�?S BJ9A>< CD46<?PABEF< D9L9A<S CD98BEF46?9AB 5 C4D H4=?B6 INPUT-

ANSWER c QF4?BAAO@< 6IB8AO@< < 6OIB8AO@< 84AAO@< 

�4:8O= GEC9LAB CDB=89AAO= F9EF 4 20 54??B6. 

 5H5=85: 
#BEK<F49@ EG@@G J<HD 6 BK9D98AB@ 8?<AAB@ K<E?9, CD98EF46<6 97B EFDB>B=. 

�G89@ EK<F4FP EG@@G J<HD 6 CB?GK9AAB@ K<E?9 8B F9I CBD, CB>4 BA4 A9 EF4A9F @9APL9 
10. �4F9@ 6OD9:9@ AG:AGR J<HDG <; 4?H46<F4 < EHBD@<DG9@ >B8B6B9 E?B6B. 

Program task01; 
  const n=10; 
  type str = string [n]; 
       chislo = string; 
       mas = array[0..n-1] of char; 
  var k,i,j,h,x: integer; ft:text; 
      alf:str; c:chislo; 
      m:mas; 
   
  function sum_cifr(a: integer): integer; 
    var sum:integer; 
  begin 
    sum:=0; 
    while a>0 do 
    begin 
      sum:=sum+a mod 10; 
      a:= a div 10; 
    end; 
    sum_cifr:=sum; 
  end; 
   
Begin 
  assign(ft,'chisla.txt'); 
  reset(ft); 
  readln(ft,alf); 
  readln(ft,k); 
  h:=0; 
  for i:=1 to k do 
  begin 
    readln(ft,c); 
    x:=0; 
    for j:=1 to length(c) do 
      x:=x+strtoint(c[j]); 
    while x>=10 do 
      x:=sum_cifr(x); 
    m[h]:=alf[x+1];   
    h:=h+1; 
  end; 
  for i:=0 to k-1 do  
    write(m[i]); 
  close(ft); 
end.    



З444G4 7.  5H8HP <>N 7444G:G? 

� ?9EAB= L>B?9 ?<ESF GK4F I<FDBEF< < E@9>4?>9. � K4EFB 8?S D4;@<A>< 
<ECB?P;GRF K<E?4 < A9>BFBDO9 <I E6B=EF64. �64 ?<E9A>4 G;A4?< B FB@, KFB 9E?< 9EFP 
864 A4FGD4?PAOI K<E?4 a < b, FB @B:AB <7D4FP F4>, KFB 5B?PL99 K<E?B ;4@9ASFP A4 
D4;ABEFP 5B?PL97B < @9APL97B, < CDB8B?:4FP <7DG 8B F9I CBD, CB>4 B54 K<E?4 A9 
EF4AGF D46AO@<. � QFBF @B@9AF <7D4 ;4>4AK<64?4EP. 

�I EF4DL<= 5D4F Х<FDO= �<E CB 84AAO@ K<E?4@ < D9;G?PF4FG, CB?GK9AAB@G 
<7DB>4@<, BK9AP 5OEFDB BCD989?S?, A9 8BCGEF<?< ?< ?<ESF4 BL<5>G 6 CDBJ9EE9 <7DO. 
� A< D4;G A9 BL<5ES 6 BJ9A>9.   

&B784  98698P, >BFBDO= 6 8GL9 5O? @4F9@4F<>B@, CD98?B:<? 9@G D9L<FP 
8DG7GR ;484KG, 6 >BFBDB= ;484AO K<E?4 a, b, c, d. &D95G9FES G;A4FP, A4EFGC<F ?< 6 
CDBJ9EE9 <7DO 8?S ;484AAB= C4DO K<E9? (a, b) F4>B= @B@9AF, >B784 6 CDBJ9EE9 
CDB69D>< BK9D98AB= C4DO K<E9? K<E?B a 5G89F D46AB c, 4 K<E?B b 5G89F D46AB d?  

ТD55G5FEO A4C<E4FP CDB7D4@@G, >BFBD4S CB@B:9F D9L<FP Х<FDB@G �<EG ;484KG 
 98698S. 

 

Т5I=8G5E:85 FD55>64=8O: 
�@S 6IB8AB7B H4=?4: INPUT.TXT 

�@S 6OIB8AB7B H4=?4: OUTPUT.TXT 

"7D4A<K9A<9 CB 6D9@9A< F9EF<DB64A<S: 2 E9>GA8O A4 B8<A F9EF. 
 

Ф>D<4F 6I>4=OI 44==OI: 
�IB8AB= H4=? INPUT.TXT EBEFB<F <; B8AB= EFDB><, 6 >BFBDB= KD9; CDB59? 

;4C<E4AO J9?O9 K<E?4 a, b, c < d, 789 1 a, b, c, d 1018 

 

Ф>D<4F 6OI>4=OI 44==OI: 
�OIB8AB= H4=? OUTPUT.TXT 8B?:9A EB89D:4FP B8AG EFDB>G. �E?< 6 CDBJ9EE9 

CD<@9A9A<S 4?7BD<F@4 �6>?<84 > C4D9 K<E9? (a, b) 6 >4>B=-FB @B@9AF CB?GK49FES C4D4 
(c, d), FB EFDB>4 EBEFB<F <; E?B64 <YES=, 6 CDBF<6AB@ E?GK49 3 <; E?B64 <NO=.  

 

�D8<5D H49;>6 6I>4=OI 8 6OI>4=OI 44==OI: 
INPUT.TXT OUTPUT.TXT 

60 150 60 30 YES 

60 150 30 60 NO 

1000 150 75 50 NO 

768 112 80 16 YES 

  



СиEFе<а >Fе=ки. 

�?S BJ9A>< CD46<?PABEF< D9L9A<S CD98BEF46?9AB 20 C4D H4=?B6 INPUT-

ANSWER c QF4?BAAO@< 6IB8AO@< < 6OIB8AO@< 84AAO@< 

�4:8O= GEC9LAB CDB=89AAO= F9EF 4 5 54??B6. 

 5H5=85: 
"5D4F<F9 6A<@4A<9 A4 FB, KFB FD4EE<DB6>4 <;@9A9A<= ;A4K9A<= C9D9@9AAOI a, b 

CB;6B?S9F D4;5<FP CDBJ9EE 6OK<E?9A<S A4<5B?PL97B B5M97B 89?<F9?S A4 H4;O, 6 
>4:8B= <; >BFBDOI CBBK9D98AB BEF49FES A9<;@9AAO@ ;A4K9A<9 <?< a <?< b.  

�?S CSFB7B F9EF4 QFB: 
1  H4;4: (6012, 2604) = (3408, 2604) =(804, 2604) = 

2  H4;4: (804, 1800) = (804, 996) =(804, 192) =  
3  H4;4: (612, 192) =(420, 192) =(228, 192) = (36, 192) = 

4  H4;4: (36, 156) =(36, 120) =(36, 84) = (36, 48) = (36, 12) = 

5  H4;4: (24, 12) =(12, 12) =(12, 0)  
(6012, 2604) = 12 

� EBBF69FEF6<< E CBEF4AB6>B= ;484K< A4@ A9B5IB8<@B G598<FPES 6 FB@, KFB A4 
B8AB= <; <F9D4J<=, A964:AB >4>B=, CDB@9:GFBKAO9 ;A4K9A<S a < b EB6C48GF 
EBBF69FEF69AAB EB ;A4K9A<S@< c < d.  

%?98G9F B5D4F<FP 6A<@4A<9 A4 FB, KFB: 
 >4:84S H4;4 ;4>4AK<649FES 6 FBF @B@9AF, >B784 @9AS9FES <EF<AABEFP 
BFABL9A<S «5B?PL9-@9APL9» @9:8G ;A4K9A<S@< a < b; 

 6 >4:8B= H4;9 ;A4K9A<S <;@9AS9@B7B Q?9@9AF4 CD< 89?9A<< A4 CBEFBSAAO= 
Q?9@9AF 84RF B8<A < FBF :9 BEF4FB>; 

#D< QFB@ C4DG (c, d) <M9@:  
 ED98< F9>GM<I ;A4K9A<= C4D (a, b) 3 BK9AP FS:9?O= 4?7BD<F@, < A4 G>4;4AAOI 
8<4C4;BA4I 6IB8AOI 84AAOI D45BF49F A98BCGEF<@B @98?9AAB; 

 A4 BEAB64A<< >BAFDB?S A4K4?4 < >BAJ4 H4;O, EB6C489A<S CBEFBSAAB7B 
Q?9@9AF4 H4;O E EBBF69FEF6GRM<@ ;A4K9A<9@ < 4A4?<;4 EB6C489A<= 6FBDB7B 
>B@CBA9AF4 C4DO. 
 

#include <iostream> 

using namespace std; 

 
bool poisk (long long int a, long long int b,long long int c, long long 
int d) 

{ 

    bool rezultat = false; 

    while (!(a*b==0)&&!(rezultat)) {// CA;>285 <>6=> CA8;8BP a>=c 8 b>=d 

        if (a > b) { 

            a = a % b; 

            if (b == d) 

                if ((c - a % b) % b == 0) rezultat = true; 

        } 

        else { 

              b = b % a; 

              if (a==c) 



                  if ((d - b % a) % a == 0) rezultat = true; 

        } 

      

    } 

 
return rezultat; 

} 

int main() 

{ 

    long long int chislo1, chislo2, chislo3, chislo4; 

    cin >> chislo1; 

    cin >> chislo2; 

    cin >> chislo3; 

    cin >> chislo4; 

    cout << poisk(chislo1, chislo2,chislo3, chislo4) << endl; 

    system("pause"); 

    return 0; 

}  



З444G4 8. �494G! 
�B 6D9@S BK9D98AB7B B5IB84 ?9E4  98698P, 97B IB;S<A, GE?OL4?, >4> �4SJ 

I64EF49FES �:G, KFB A4L9? EB>DB6<M4, A489:AB ECDSF4? <I 6 ?9EG < CBEF46<? 
GE?B6AO9 ;A4>< 8?S BCB;A464A<S.  98698S 6B;@GF<?B E4@BGCD46EF6B 6ES><I F4@ 
�4=J96, < BA D9L<? A4=F< 6E9 ECDSF4AAO9 EB>DB6<M4. #BE>B?P>G  98698P 5O? 6 8GL9 
@4F9@4F<>B@, FB 5OEFDB EBEF46<? C?4A CB<E>4. "A GK9?, KFB 64:AO= 8?S A97B GK4EFB> 
?9E4 @B:AB CD98EF46<FP 6 6<89 CDS@BG7B?PA<>4 E J9?O@< 8?<A4@< EFBDBA (п - 6OEBF4 
CDS@BG7B?PA<>4, m - 8?<A4 CDS@BG7B?PA<>4), < QFB CB;6B?<F D4;D45BF4FP EFD4F97<R < 
EFD4IB6>G A4 E?GK4=, KFB5O A9 ;4CGF4FPES.  98698P 6 98<A<JG 6D9@9A< BJ9A<649F 
A4?<K<9 EB>DB6<M 6 >648D4F9 ?9E4 D4;@9D4 1I1. #9D98 A4K4?B@ CB<E>4  98698P 6EF4? 
C9D98 ?96B= 69DIA9= >?9F>B= CDS@BG7B?PA<>4 6 A4CD46?9A<< «E?964 - A4CD46B», CBE?9 
K97B A4K4? B5IB8, 86<74SEP CB EC<D4?< CB K4EB6B= EFD9?>9. !G 6BF CD<@9DAB, >4> A4 
D<EGA>9: 

  

 

 

 

 

 

 

 

#D< QFB@ 97B FDBC<A>4 «;4>DGK<649FES» 6AGFDP, ;4I64FO64S CBEF9C9AAB 6E9 
AB6O9 GK4EF>< ?9E4. #B<E> ;4>4AK<649FES, >B784 CDB69D9AO 6E9 GK4EF><. 

ТD55G5FEO A4C<E4FP CDB7D4@@G, >BFBD4S 8?S ;484AAOI 69?<K<A 8?<AO < L<D<AO 
GK4EF>4 ?9E4 BCD989?S9F >B?<K9EF6B CB6BDBFB6, >BFBDO9 8B?:9A 6OCB?A<FP  98698P 6 
CDBJ9EE9 CB<E>4 EB>DB6<M. 

 

Т5I=8G5E:85 FD55>64=8O: 
�@S 6IB8AB7B H4=?4: INPUT.TXT 

�@S 6OIB8AB7B H4=?4: OUTPUT.TXT 

"7D4A<K9A<9 CB 6D9@9A< F9EF<DB64A<S: 1 E9>GA84 A4 B8<A F9EF. 
 

Ф>D<4F 6I>4=OI 44==OI: 
�IB8AB= H4=? INPUT.TXT EB89D:<F 864 J9?OI K<E?4, D4ECB?B:9AAOI 6 B8AB= 

EFDB>9 6 E?98GRM9@ CBDS8>9: п, m (1 ≤ n, m ≤ 32767). Ч<E?4 6 EFDB>9 D4;89?9AO 
CDB59?4@<. 

 

Ф>D<4F 6OI>4=OI 44==OI: 
�OIB8AB= H4=? OUTPUT.TXT 8B?:9A EB89D:4FP B8AB J9?B9 ;A4K9A<9 - 

>B?<K9EF6B CB6BDBFB6. 
 

�D8<5D H49;>6 6I>4=OI 8 6OI>4=OI 44==OI: 
INPUT.TXT OUTPUT.TXT 

3 5 4 

4 5 6 

n=3 

m=5 



СиEFе<а >Fе=ки. 

�?S BJ9A>< CD46<?PABEF< D9L9A<S CD98BEF46?9AB 10 C4D H4=?B6 INPUT-

ANSWER c QF4?BAAO@< 6IB8AO@< < 6OIB8AO@< 84AAO@< 

�4:8O= GEC9LAB CDB=89AAO= F9EF 4 10 54??B6. 

 5H5=85: 
� >4K9EF69 @B89?9= 8?S A4IB:89A<S 4?7BD<F@4 D9L9A<S 84AAB= ;484K< @B7GF 

E?G:<FP CDS@BG7B?PA<>< D4;AOI 6<8B6, < CD<AJ<C<4?PAB D4;?<KAO@< 5G8GF F9 
E?GK4<, 6 >BFBDOI 6OEBF4 CDS@BG7B?PA<>4 5G89F 5B?PL9 <?< @9APL9, K9@ 8?<A4.  

$4EE@BFD<@ E?GK4=, CD< >BFBDB@ 6OEBF4 CDS@BG7B?PA<>4 5G89F @9APL9. � 
>4K9EF69 Q?9@9AF4 A45?R89A<S 6O89?<@ CB?AO= >BAFGD B8AB7B B5IB84  98698S. 
#BASFAB, KFB 6E9 >?9F>< CB?AB7B >BAFGD4 A4IB8SFES A4 B8AB= 7?G5<A9 G84?9A<S BF 
>D496 CDS@BG7B?PA<>4 <, KFB CB ;469DL9A<< B5IB84 >BAFGD4 8?S CDB8B?:9A<S CGF< 
 98698P 8B?:9A E89?4FP CB6BDBF 8?S C9D9IB84 6 «<EIB8AB9 EBEFBSA<9». "F@9F<@, KFB 
CD< QFB@  98698P B5IB8<F 869 69DF<>4?PAO9 < 869 7BD<;BAF4?PAO9 CB?BEO 
CDS@BG7B?PA<>4. �?<AO 7BD<;BAF4?PAOI CB?BE A9 <@9RF ;A4K9A<S, 4 6BF >B?<K9EF6B 
69DF<>4?PAOI BCD989?S9F >B?<K9EF6B CB?AOI >BAFGDB6. �; D4EEG:89A<= 6OL9 
CBASFAB, KFB BAB D46AB n  2 < >4:8O= CB?AO= >BAFGD FD95G9F K9FOD9I CB6BDBFB6. 
#D< QFB@ 64:AB, S6?S9FES ?< K<E?B n K9FAO@ <?< A9F. �E?< 84, FB CD< CDBIB:89A<< 
E4@B7B 6AGFD9AA97B >BAFGD4  98698P E89?49F FB?P>B 864 CB6BDBF4 <; K9FOD9I. �E?< 
:9 K<E?B CB?BE A9K9FAB, FB CBE?9 CDBIB:89A<S @4>E<@4?PAB 6B;@B:AB7B K<E?4 
CB?AOI >BAFGDB6,  98698P CDBEFB CDB=89F CB BEF46L9=ES 98<AEF69AAB= CB?BE9 8B 
>BAJ4. !< B8AB7B CB6BDBF4 CD< QFB@ A9 5G89F E89?4AB.  

$4EE@BFD<@ E?GK4=, CD< >BFBDB@ 6OEBF4 CDS@BG7B?PA<>4 5G89F 5B?PL9 <?< 
D46A4 8?<A9. � QFB@ E?GK49 >B?<K9EF6B 6B;@B:AOI  CB?AOI >BAFGDB6 B5IB84 
BCD989?S9FES K<E?B@ m. �E?< 84AAB9 K<E?B K9FAB, FB CD< CDBIB:89A<< CBE?98A97B <; 
m  2 >BAFGDB6 BFC489F A9B5IB8<@BEFP A4 CBE?98A9= >?9F>9 C9D9IB8<FP  98698R 6 
«<EIB8AB9 EBEFBSA<9», F4> >4> CGFP ;4>BAK9A < 84?PL9 <8F< A9>G84. �E?< :9 m 

A9K9FAB, FB A48B <; «<EIB8AB7B EBEFBSA<S» E89?4FP L47 «6C9D98», CDB69DAGFP 
«A4CD46B» < CDB89?4FP 8B >BAJ4 BEF46L<=ES CGFP.  

#BASFAB, KFB GE?B6<S ;484K< FD95GRF <ECB?P;B64A<S J9?B7B F<C4 84AAOI 8?S n < 
m.  

program sokrovisha; 
 uses crt; 
 var n,m,k:integer; 
 f,f1:text; 
Begin 

clrscr; 
assign(f,'input.txt'); 
reset(f); 
read(f,n,m); 
if (n=1) or (m=1) then k:=0 
 else 
 if n<=m then k:=2*(n-1) else k:=2*m-1; 
assign(f1,'output.txt'); 
rewrite(f1); 
writeln(f1,k); 

close(f); 
close(f1); 

 End. 


